STANDARD Series
Clamps

DIN 3015, Part 1

SdINYTI S3143S AHVANVYLS

e Order Codes

e Dimensions




PIPE CLAMPS - STANDARD SERIES
Order Codes

PIPE CLAMPS MATERIAL

Code PP: Polypropylene material Colour Blue

NB: other colours on demand.

Clamp body
(two clamp halves)

Code PA: Polyamide material Colour Black.

Code GM: Rubber Elastomer material Colour Black

Code AU: Polypropylene self-extinguishing

material. Colour White.

Internal surface clamp body Knurled from C1
to G7 type and profiled from C8 to C9.

Code A: Aluminium material Colour Natural

Internal surface clamp body profiled.

For Dimensions see pages 7-9.
For material characteristics, see page:
80 and 82.

Components description

s 12,

TYPE 2-9

## 44 - #4

Single w:ld plate

Elongated weld plate
(with Iflt_;rew)

= ] = % — =
- — 5 So® S S_2 S
Sg @ S . = 285 = =85 =
wie =2 wi o2 =2 =2 = LR= =
Lo £ |E=5G £ L |ssg| £E 292 s 552 5
S E E |EgE £ |SuB|2EE| €5 2252 8 SE€-2 8
oS = SO = = o= 382 S — ESEX = oSS e = =
oo = et E oo~ | OoTs.E =5 N - = [=
6 ci 6 44
6,4 147 ¢ 6,4 ##
8 516" C1 8 ##
‘{;011 95 38" ¢l 9,5 ## )5’11 M6 )5,"& M6
10 | 18 ci 10 ##
12 [ 12 ##
12,7 127 e 12,7 ##
6 2 6 44
6,4 1747 _c2 6,4 ##
f] 516°| __C2 8 ##
;fczz 9,5 38" _c2 95 ## XPP22 M6 xP}}Lzz M6
10 | _1/8” 2 10 ##
12 2 12 ##
12,7 127 _¢c2 12,7 ##
12,7 127 ¢c3 12,7 ##
135 | 14” c3 13,5 ##
14 3 14 ##
‘{;033 15 c3 15 ## {33 M6 {PLL33 M6
16 58| _¢3 16 ##
172 | 38 c3 17,2 ##
18 3 18 44
19 34" ¢4 19 ##
20 [ 20 ##
213 | 12 c4 213 ##
‘{:6‘4 22 78" ¢4 22 T XP|;'4 M6 XPPLI?4 M6
23 c4 23 ##
25 c4 25 ##
25,4 17 c4 254 44
26,9 | 34” 5 26,9 ##
28 [ 28 ##
‘{;055 29 [ 29 ## {P55 M6 {F!-LSS M6
30 [ 30 t#
32 1.1/4”|__©5 32 ##
32 1.1/87]__¢6 32 44
33,7 1 C6 33,7 ##
35 6 35 ##
‘fcsﬁ 38 1.1/27]__¢6 38 ## XPIPG M6 xPF!'LBG M6
40 C6 40 ##
42,4 [1.1/4” C6 12,4 ##
45 6 45 ##
445 1347 C7 445 ##
45 7 15 ##
c7 i o T P7 M6 PLT MG
AC7 XP7 XPL7
50,8 2’| _¢7 50,8 t#
53 7 53 t#
54 | 1.3/4" 7 54 ##
57,2 2.4/8"]_c8 57,2 ##
60,3 27 8 60,3 ##
63,5 2172 _¢8 63,5 ##
c8 66 8 66 ) " M6 o M6
70 2.347|__C8 70 ##
73 c8 73 ##
76,1 | 2.1/2° 3" _c8 76,1 ##
88,9 3" [ 3.4/ 69 88,9 ## P9 PL9
co 102_| 3.1/2” 469 102 ## XP9 M6 XPL9 M6

d




PIPE CLAMPS - STANDARD SERIES

Order Codes
Twin weld plate Multiple weld plate Upper plate Hexagon head bolt Bushing Hexagon head bolt Socket cap screw
PD PM PS VE B TCEI
WITH UPPER PLATE |NO UPPER FOR USE ENISO
PS PLATE WITH BUSHING 4762
B
Q ENISO FOR USE
\./ 4014 /4017 WITH
HEXAGON|
TYPE1 TYPE1 TYPE1 HEAD
BOLT
VEB
@
)
PD# - VE# - VEB# # TCEl# #
XPD# XVE# XB XVEB# XTCEl#
= = - = - = ==
L £ |32 | E| | 2., |E3 E 2| 3 g =T g
—0 = 0D e = o - = = - =2 ® - S =T =
1] 5 252 5 | BE| ©=s2 S2o 5 |2 8| s2g 5 =2z s
seSe| 2 | E23z| 2 |ES| EBpy |§23s2| = |EBT|§23z| =z | EESe | =
£ % = = Lo
ERES = 355 | & | 25| S82F | 2355 & |&3s5|Es52| & 38> =
PD1 PM1 PS1 VE1 VEB1 TCEH
XPD1 M6 xpmi | M6 | 10 XPS1 xver | (M6x30) xveg1 | (MBX27) | yrepn (M6x20)
PD2 PM2 PS2 VE2 VEB2 TCEI 2
XPD2 M6 xemz | M6 | 10 XPS2 xvez | (M6x30) xvepz | MBx27) | yrepp | (MBX20)
PD3 PM3 PS3 VE3 VEB3 TCEI 3
XPD3 M xpmz | M6 | 10 XPS3 xvE3 | (M6x35) xvess | (MOS2) | xrceg | (M6x29)
B
XB
IFor
clamps
XPD4 W6 xPs | M6 | 10 XPS4 XVEs | (VG0 ¢1-c7 xeba | (MES5) | ghiy | (M6D)
and
AC1-AC7
PD5 PM5 PS5 VES VEBS TCEI 5
XPD5 M6 xems | M6 | 5 XPS5 xves | (M6x45) xvegs | (M6x42) | yregs | (MBX35)
PD6 PMG PS6 VEG VEBG TCEI 6
XPD6 e xpmg | M6 | 5 XPS6 xveg | (M6x60) xvege | MBXS7) | yrepg | (M6X50)
PD7 PM7 PS7 VE7 VEB7 TCEI 7
XPD7 M6 xemz | M6 | 5 XPS7 xvez | (M6x70) xvep7 | (MBx65) | yreg7 | (MBX6O)
Xps8 | Aues |(M6x100)| — xicag | (M6xo0)
N I ) N N 98 [T

-




PIPE CLAMPS - STANDARD SERIES
Order Codes

High hexagon

Flat washer  Safety washer head bolt Locking plate Mounting rail Rail nut with rubber ring
P RS VA PB BB DF+ AG / DF-C
FOR USE FOR USE FOR STACKED FOR OVERLAPPED
WITH SCREW WITH HEXAGON CLAMPS CLAMPS
TCEI/ VA HEAD BOLT
VE/VEB @
DIN 93 N
TYPE1 DF-C
DIN 463
=
S \/
TYPE 2-9
RP RS 6.4 VA# BB
XRP XRS 6.4 XVA# # PB# XBB #
f— —
£ =z | = 2 z 2 = =
© o = - s8 ] s 1= bl - - s « 3
z83 ES8T | =583z || £2Beaz S _FB.o coza | 2f
ks SEGS T22552 | 25 Ssa5=2 SSHas= eS8 5n =S
VA1 PB1
XVA1 M6 XPB1
VA2 PB2
XVA2 M6 XPB2
VA3 PB3
XVA3 M6 XPB3
VA4 W6 PB4
RP RS 6,4 XVA4 XPB4
XRP XRS 6,4 XBb
for clamps for clamps Available heights XBF;%FCC M6
¢1-Co ¢1-Co VAS - PB5 At e
AciAcT aciAcT XVRS XPES 2m
VAG PB6
XVA6 M6 XPB6
VA7 PB7
XVA7 M6 XPB7
VA8 PBS
XVAS M6 XPBS
VA9 PBY
XVA9 Mé XPB9




PIPE CLAMPS - STANDARD SERIES
Dimensions

Clamp body Single weld plate Elongated weld plate (with screw)
ACCESSORIES (two clamp halves) P PL

All component and accessories
are available in:

Carbon steel St360: with finishing
surface in white zinc-coated

Fe Zn c8 II. Untreated are availa- o} T

ble on request. ST@

Stainless steel inox 316L: 10| 2 ‘

(X2 CrNiMo 17-12-2) 1.4404
Marked with X identification TYPE1 TYPE1
code. NB: the BB track is treated % H

TYPE 1

L2

oD
L1
L1

=lo @]

T
9
S}

All the components are produced
with metric thread, on request
are also available with UNC ol
thread. I
Metric thread: code M
UNC thread: code UNC.

L2
L1

@D

@ L2
©
m—
@ |

©

For material characteristics

=0 ©

see pages 12, 80 and 82. TYPE 2-9 fTYPEz-g TYPE2-9 _||S
Code C Mat. PP-PA-GM Carbon steel St360 code P Carbon steel St360 code PL

Material description oy, .code AC Stainless steel AISI 316L code XP Stainless steel AISI 316L code XPL
0.D. of Pigt{a)fl{ ube/Hose

Code
PI.EFFE.CI.
clamp hody
nom

hore

pipe
ininch
Width
Code
PI.EFFE.CI.
Code
PL.EFFE.CI.

L1 |12 H|S L1 |L2| B | S | H|@D L1 [ L2 |L3]| B | S | H |0D1|@AD2

6.4 1/4”
8 5/16”
aci S5 T 367] 28 | 95|27 | 06| 30 |ypq|315] 10 | 30 | 3 | 65| 12 |ypiy| 58 |245| 44 | 30 | 3 |65] 12| 7

12,7 1/2”

6.4 1/4”

8 5/16”
C2 > P2 PL2
AC2 9,5 3/8") 37 | 20 | 27 | 06 | 30 | xpo| 36 | 20 | 30 | 3 |65 | 12 |ypjo| 64 [ 20 | 50 | 30 | 3 | 65| 12| 7

10( 1/8”

12,7 127
12,7 1/2”
13,5 147

C3 P3 PL3
AC3 15 42 | 26 | 33 108 |30 |ypg| 42| 26 [ 30| 3 |65 | 12 |ypig| 70 | 26 | 56 | 30 | 3 | 65| 12| 7

16 5/8”
17,2| 3/8”

19 3/4”

21,3 1/2”
C4 ) = P4 PL4
AC4 22 7/8") 50 | 33 | 36 | 08 | 30 | xpg| 90 | 33 | 30 | 3 |65 | 12 |ypjs| 78 [ 33 | 64|30 | 3 [ 65| 12| 7

26:9 3/4”

C5 P5 PL5
AC5 29 57 [ 40 | 42| 1 | 30 |yps| 60 [ 40 [ 30 | 3 | 6,5 | 12 |ypsl 87 | 40 | 73 | 30 [ 3 |65 | 12| 7

32 1.1/4
32 1.1/4”

C6 » P6 PL6
AC6 38 14/27 ) 71 | 52 | 58 | 1,41 30 | ypg| 71|52 |30 | 3 | 65| 12 |ypjp(100| 52 | 86 | 30 | 3 | 65|12 | 7

42,4 1.1/8”

44,5 1.3/4”

48,3]| 1.1/2”
C7 - P7 PL7
AC7 50 86 | 66 | 66 | 1,4 | 30 | yp7| 88 [ 66 [ 30 | 3 | 6,5 | 12 |ypj7( 115 66 |100| 30 | 3 |65 | 12| 7

50,8 2”

54| 1.3/4”
57,2 2.1/4”

63,5 2.1/2” P8 PL8
8 [ o 12104 | 93 | 2 |30 | [122| 04 | 30 | 5 |65 | 12 | gy 150 | 94 [136| 30 | 5 |65 12| 7

70 2.3/4”

76,1| 2.1/2” 3”
88,9 3” [3.1/2”
102| 3.1/2” 4

P9 PL9

c9 1471120 (118 | 3 | 30 | ypg | 148120 30 | 5 | 65 | 12 |ypyg| 178 | 120 | 162| 30 | 5 | 65 | 12 | 7




PIPE CLAMPS - STANDARD SERIES

Dimensions
. . Hexagon ; Hexagon
Twin wlg[l)d plate Mulllplepul(;ld plate Uppegsplate head bolt BusII;lng head bolt
'[3 VEB
of 1s0 FOR USE
R {@2 EES %;jz'ﬂ 4014 /4017 WITH BUSHING
Q 9 S - == B
| S 8| @' \ FOR UPPER PLATE
@ e o |° bs
HI S
J_LS B L1

TYP,

m
-
-

(2]

IZD

@ 90 @

oD

-0 090/ 0 % -

TYPE2-7 TYPE 2-7 TYPE 2-9
Carbon steel St360 code PD Carbon steel St360 code PM Carbon steel St360 c. PD Steel 8.8 code VE St360 code B Steel 8.8 ¢. VEB

Stainless steel AISI 316L ¢. XPD Stainless steel AISI 316L c. XPM Stainless steel AISI 316L Stainless st. A4 St. AISI 316L Stainless st. A4

code XPD code XVE code XB code XVEB

S = S =] =] =

e e e e e e
ot i i B Bih B
Sz |L1|L2|L3|B|S|H 8D S=|L1|L2|L3|B|S|H|oD|S=|L1|L2|B|S|BD|] S& | DxL |S&|D1|D2|H| S= | DxL
PD1 PM1 PS1 VE1 VEB1
xPD1| 87 |40 [ 40|30 3165 |12|ypy4(310| 31|31 (30| 4 |65|12|ypgq[27.5] 7 [30 3 | 7 | yypq | M6x30 XVEB{ | M6x27
PD2 PM2 PS2 VE2 VEB2
XPD2 | 76 20 | 38|30 [3]6,5|12|ypya(380| 20|38 [30| 4 |6,5(12|ypgn(34.5( 20 [ 30 [ 3 | 7 | yyfa | M6X30 XVEB2 | M6x27
PD3 PM3 PS3 VE3 VEB3
XPD3 | 88 | 26| 44 | 30 | 3|6,5(12|yppi3|440| 26 | 44|30 | 4 |6,5|12|ypesl40,5( 26 |30 | 3 | 7 | yyEz | M6x35 XVEB3 | M6x32
PD4 PM4 PS4 VE4 X |115/658 VEB4
XPDa | 102/ 33 [ 5130 3|65 |12|ypyal520| 33|52 [30| 4 |6,5(12|ypgy| 48 [ 33 [30 |3 | 7 | yyga | M6x40 XVEB4 | M6x35
PD5 PM5 PS5 VE5 VEB5
XPD5 | 120| 40 | 60 | 30 | 36,5 12|ypyis|300| 40 | 60 | 30 | 4 6,5]12|ype5(56,5( 40 [ 30 [ 3 | 7 | yygs | M6xd5 XVEB5 | M6x42
PD6 PM6 PS6 VEG VEB6
XPDG | 150] 52| 75| 30 | 3 6,5 12|xpy5l375| 52 | 75| 30| 4|6.5|12|xpg5(69.5/ 52| 30 | 3 | 7 | xygs | M6x60 XVEBG | M6x57
PD7 PM7 PS7 VE7 VEB7
Xpp7 | 180 66 [ 90| 30 | 36,5 |12|yxpy7(450] 6690 [30| 4 |6,5|12|ypg7(85.5( 66 [ 30 [ 3 | 7 | yypz | M6x70 XVEB7 | M6x65

PS8 VE8
xpsg| 18] 94 (30 [ 5| 7| yygs |M6x100
PS9 VE9
Xpsg| 144|120 30 | 5 [ 7 | yygg |M6x125

-




Socket cap
screw
TCEI

180 4762

Steel 8.8 ¢.TCEI
Stainless steel

Flat washer
R

Carbon steel

St360 code RP  St360 code RS

Safety
washer
RS

DIN 93

-

DIN 463

*ema

Carbon steel

High hexagon
head bolt
VA

FOR STACKED CLAMPS

D
I
=

L1

St360 code VA
Stainless steel

PIPE CLAMPS - STANDARD SERIES
Dimensions

B2

Locking plate
PB

B1

Mounting rail
BB

BB11_ ||~

B1
B2

BB14

30

Carbon steel St360

code PB

Steel DX51D
code BB

Rail nut
with rubber ring
DF+AG / DF-C

[ 1
L

M6
{8 -
DF-C WITH RUBBER CAP
@D

AG  ——
s _q
NI

M6

—

@)=

DF+AG

Steel C20 code DF/DF-C
Stainless st. AISI 316L

AISI 316L Stainless steel Stainless steel Stainless steel Stainless st.
code XTCEI  AISI316Lc. XRP A4 code XRS AISI316Lcode XVA  p61'316) code XPB  AISI3t6Lc.XBB  c0de XDF/XDF-C
S =] =] = =] =] S
e e e e e e e
2 o Bl Bi i 84 B
Sz |DxL|Sx |@gD|oD1|S| S&E | 6D | S= | D |L1|L2|L3|CH| S& | L |B1|B2| S |S&|B1|B2|S|S&|L| B |H1|H2|0D|AG
VA1 PB1
M6x20 XVA7 | M6 [34(20(14111| yppq |17 |32 [112] 1
VA2 PB2
M6x20 XVA2 | M6 (3420 (14 (11| yops | 33 | 28 [112] 1
VA3 PB3
M6x25 XVA3 | M6 [39(25(14(11| yppa |39 | 28 [112] 1
VA4 PB4
M6x30 XVA4 | M6 [43(29(14 (11| yopa | 47 | 28 [112] 1
(=]
QL o
TCEI RP RS BB | |Egle v ln| e
XTCEI XRp 11963108 yps | 64 XBB ||~ N%Ezﬁ S|s|d=| 3
VA5 PB5 >
M6x35 XVA5 | M6 [49(35(14 (11| ypps | 54 | 28 [112] 1
VA6 PB6
M6x50 XVAG | M6 |64(50(15(11| yope | 66 | 28 [112] 1
VA7 PB7
M6x60 XVA7 | M6 |73(59(14|11| ypp7 (80.3| 28 [11,2] 1
VA8 PBS
M6x90 XVAg | M6[99(85(14/11( yope |117] 28 [112| 1
VA9 PB9
M6x110) XVAQ | M6 [124(110( 14| 11| yppg |143| 28 [11,2] 1

D




PIPE CLAMPS - STANDARD SERIES
Mounting Example

Mounting Example of complete Aluminium clamp AC1 type
for pipe with outside diameter of 12mm with elongated plate
with fixing holes and upper plate.

Mounting Example of complete clamp C1 type in Polypropylene
for pipe with outside diameter of 12mm with single weld plate.

@) N.1 VE1 M6x30
- TCEI M6x20 Hexagon head bolt Steel 8.8
' Socked cap screw Metric Thread
=S in Steel 8.8
= N.1 PS1
N.1RP s gp[}er plfaae ilr]l St360
Flat washer in St360 G ) urface fihishing
S \ / white zinc-plating
N.1C112## =
Clamp body
(Two clamp halves) N.1C112##
in Polypropylene Clamp body
(Two clamp halves)
in Aluminium
N.1P1
Weld plate in St360
&) gﬂ eIEfric ﬂ}'rﬁ‘a%' N.1PL1
&) urface fihishing .
U white zinc-plating > < Elongated plate with fixing holes
" in St 360 Metric thread
=) Surface fihishing
\ white zinc-plating

Mounting Example of complete stacked clamp C1 in Rubber Mounting Example of complete stacked clamp C5 in Polypropylene
for pipe with outside diameter of 12mm, elongated plate for pipe with outside diameter of 30mm single weld plate
with fixing holes and upper plate. and upper plate.

N.2 VE5 M6x45
Hexagon head bolt
Steel 8.8 Metric Thread
N.1 VE1 M6x30
Hexagon head bolt
Steel 8.8 Metric Thread

N.1 PS5
N.1PS1 Upper plate in St360
Upper plate in St360 Surface fihishing
Surface fihishing white zinc-plating
white zinc-plating

N.1C530 ##

Clamp body
N.1C1124## (Two clamp halves)
Clamp body in Polypropylene
(Two clamp halves)
in Rubber
N.1P

Locking plate Steel St360 Lécking plate Steel St360

B1 N.1 PB5
Surface finishing white zinc-plating Surface finishing white zinc-plating
N.1 VA1
Stacking bolt in St360

Metric thread
N.2 VA5
Stacking bolt in St360
N.1 RP Metric thread
Flat washer in St360
N.1C1124# # N.2 RP
Clamp body Flat washer in St360
(Two clamp halves)
in Rubber
N.1C530 # #
N.1PL1 Glamp body
Elongated plate with fixing holes (Two clamp halves)
in St 360 Metric thread in Polypropylene
Surface finishing
white zinc-plating
N.1P5
Weld plate in St 360
Metric thread
Surface fihishing

white zinc-plating




PIPE CLAMPS - STANDARD SERIES
Mounting Example

Mounting Example of complete clamp C1 type side by side
in Polypropylene for pipe with outside diameter of 12mm,

Mounting Example of complete clamp C5 in Polypropylene
for pipe with outside diameter of 30mm, elongated plate

with double weld plate and upper plate.

N.1 VE1 M6x30
Hexagon head bolt
Steel 8.8 Metric Thread

N.1 TCEI M6x20
Stacking bolt in Steel 8.8
Metric Thread

N.1 PS1
Upper plate in St360
Surface fihishing white zinc-plating

N.1RP
Flat washer in St360

N.2C112##
Clamp body (Two clamp halves)
in Polypropylene

N.1PD1

Weld double plate in St 360

Metric thread

Surface fihishing white zinc-plating

with fixing holes and upper plate.

N.2 XVE5 M6x45
Hexagon head bolt
Steel A4

Metric Thread

N.1 XPS5
Upper plate in Aisi 316L

N.1C530 # #
Clamp body

(Two clamp halves)
in Polypropylene

N.1 XPL5
in Aisi 316L Metric Thread

Mounting Example of complete clamp C5 in Polypropylene
for pipe with outside diameter of 30mm, with single weld plate.

N.2 TCEI M6x35
Socked cap screw
Steel 8.8 Metric Thread

N.2 RP
Flat washer in St360

N.1C530##
Clamp body

(Two clamp halves)
in Polypropylene

N.1P5

Weld plate in St360
Metric thread
Surface fihishing
white zinc-plating

Mounting Example of complete clamp C5 in Aluminium
for pipe with outside diameter of 30mm, elongated plate

with fixing holes and upper plate.

N.2 VE5 M6X45
Hexagon head bolt
Steel 8.8 Metric Thread

N.2RS 6.4
safety washer St 360

N.1 PS5

Upper plate in St360
Surface fihishing
white zinc-plating

N.1C530 # #
Clamp body

(Two clamp halves)
in Aluminium

N.1PL5

in St 360

Metric thread
Surface fihishing
white zinc-plating

Elongated plate with fixing holes

Elongated plate with fixing holes




PIPE CLAMPS - STANDARD SERIES

Mounting Example

Mounting Example of complete clamp C5 in Rubber
for pipe with outside diameter of 30mm, with single weld plate
with bushing.

Mounting Example of complete clamp C5 type side by side
in polypropylene for pipe with outside diameter of 30mm,

with double weld plate.

N.2 VEB5 M6x42
Hexagon head bolt
Steel 8.8 Metric Thread

N.4 TCEI M6x35
Socked cap screw
Steel 8.8 Metric Thread

N.2B N.4 RP

Bushing in St360 Flat washer in St360
Surface fihishing

white zinc-plating

N.1C530 # # N.2 C530 # #
Clamp body Clamp body

(Two clamp halves) (Two clamp halves)
in Rubber in Polypropylene

N.1P5 N.1 PD5

Weld plate in St360 Weld double plate in St360
Metric thread Metric thread

Surface fihishing Surface fihishing

white zinc-plating white zinc-plating

Mounting Example of complete clamp C5 in Polypropylene
for pipe with outside diameter of 30mm, mounting rail nut.

# # . Material clamp body

PP: Polypropylene
PA: Polyamide
A: Aluminium

GM: Rubber

N.2 TCEI M6x35 AU: Polypropylene self-extinguishing

Socked cap screw
Steel 8.8 Metric Thread

N.2 RP
Flat washer in St360

N.1C530 # #
Clamp body

(Two clamp halves)
in Polypropylene

N.2 DFM06+AG
rail nut in steel C20 Metric thread
Surface fihishing white zinc-plating

2 Meters BB 28x11
Rail in steel DX 51D
Surface fihishing
zinc-plating






